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@cbocus Mastery Checkpoint
Have you mastered solving problems involving scaling or rate?

@)  Brian is making a scale model of the
Rosetta orbiter. It needs to be 4 of
the size of the actual orbiter. Work
out what each dimension needs to be.

b) If you have a resting heart rate of 70 beats per minute, how many
times will your heart beat in one hour if you stay still?

9 Ifyouwalk at arate of 5 kilometres an hour, how long would it take
you to walk 20 kilometres?

d)  If you drink2 litres a day, how much will you drink in a year?

e) Ifyour hair grows + millimetre a day, how long will it take to grow 5.cm?

Champions’ Challenge
Brian wants to make a model of the Rosetta orbiter that would
fit on a school desk. What fraction of the original size do you
think the model should be? What would the new wing span be?
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